(0 @) (rad)

++++++++++++HH ke

e

+
e

O

107 1

2 3
TPlpoT (PCA t%obeamliné[f)

a(d cot(d))

,_.
S
L

1072

1073

3

----------------- -'-.----,------------E---u--------
= :
™ e
'"‘-o.'f#e

0.950
107

2 3
TPlpoT (PCA t%obeamliné[f)

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWPM_epoch0O

2
IS
14
!
0.95
=
5
2
=
<
=]
]
°
o

107}

1072

I PV

+
LTy
+

C3
-

1071 1

o p/p.)

10'15 Tl

2 3
TPlp?T (PCA t%obeamliné'p

i

. .
P e, """‘---"'.' ’ﬂ

1071 1

e
—

+

+

il

++++++§++ i

oo a,) (cm)

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

z

==

i

|

i

.
+

0.954
10

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


